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2560 = SHT 0 844
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9999 MAERXET 0 5342
3010 K#THT 0 912
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3040 A LHET 0 138
3050 BT 0 2121
3060 B THT 1 445
3070 THESEHT 0 434
3080 HHHHT 0 385
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3100 HhFaHET 0 473
3110 EHAILHET 0 385
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4070 Jt/RHET 0 164
4080 =;I;HAMT 0 218
4090 FRERHT 0 330
4100 B FEFNHET 0 141
4110 Jt FFnET 0 152
9999 &M X5 0 2605
4510 AREE—ZHT 0 707
4520 EREE — ZEHT 0 175
4530 EREE=FEHT 0 163
4540 EREEIUZEHET 0 117
4550 EREE L FHT 0 121
4560 AR EENEEHET 0 73
4570 EREE-HFHET 0 111
4580 EREE)\ZHET 0 83
4590 EREE N FEHT 0 95
4600 EREE-+ZEHET 0 106
4610 EREE+—ZFHET 0 114
4620 AR+ —ZBHET 0 198
9999 ERERXET 0 2063
5010 FAFNHE HEHT 0 186
5020 HAF0BAEMET 0 148
5030 FRFNRI{ZHT 0 181
9999 MAFIRXET 0 515
5510 b R HET 0 207
5520 = HhHET 0 582
5530 FA= HT 0 441
5540 MY 0 258
5550 EEHT 0 73
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6010 [f]ET/IMER 0 94
6020 [z ET 5 0 118
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7020 — R AHT 0 241
7030 — R FRHAET 0 87
7040 — R T KEFHET 1 184
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9999 — R&XEtT 1 775
8011 YRAHETFEERLY 0 56
8012 YR AHTFEERA 0 134
8013 JRAHRTFAERIL 0 73
8021 HRAHTZEKLY 0 80
8022 R AHETIEKA 0 5
8023 R AHETEKIE 0 4
8031 IRAHTH ALY 0 146
8032 IRAHTHAS 0 13
8033 FAETH AL 0 23
8041 YR AHETHELIFL 0 57
8042 R ABTELIFEA 0 28
8043 R AHET LRI 0 16
8044 Y ARETHLIFIZ 0 23
8045 IR ABTELIF T 0 38
8050 IR AHT A 1 135
8060 MR ABTFTHA 0 118
8070 IJRABTER 0 112
8080 Ir AHT &k 0 45
8090 IR AHT HiEE 0 50
8100 RAHETHI /IX 0 10
8110 IRAHT I 5k 0 34
8120 IR AHTEE"S 0 77
8130 JRAHTH L 0 77
8140 IRABTEERT 0 120
8150 IRAHTHFK L 0 85
9999 AKX 5T 1 1559
9010 FTHTAKEH 0 577
9020 FTHTEFER 0 387
9030 FTHTH &£ H 0 1153
9040 F+THTHEH 0 1319
9999 FT#XEt 0 3436
9110 SERT T HIE 0 515
9120 $EETH L 0 232
9130 $EHTH & 0 148
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9190 $ERTZ O 0 210
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9320 EFHATAL 0 247
9330 H[SHET/INE 0 160
9340 R [ZHTRY 0 387
9999 HEHXET 0 988
9410 RETT & 0 381
9420 RHETHHE 0 229
9430 RHETERK 0 147
9440 RETAEF 0 15
9450 RETHER 0 23
9460 RET{—_HE 0 34
9470 RETER 0 8
9480 RHETHER 0 64
9999 RIXXET 0 901
99999 &t 11 59076



